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KFXA KB UEA T EAT T8 AT
DA S5 157 B %) — ik BH 7 3 2 1)

AR — kB p=>0.9>>03 X v =2px BN
BE=AFETAENA (2,3, A, (2, 3.) 5 Ay (25
yi) . B v = 2px,, yi = 2pay . ¥ = 2pxy, FHo P
M F Vo s Y2 F Vs Y3 7 V-

W B AA, 1 AA, S 27 =29y
YL 20E A A W 54 2° =2qy M.

B R a*=2qy TEJR 8 O M YT 2 2 2 = 2pa
B % Bk A, BT LA DRSS O R RE 2 BT I I 9 42 = MBI
T B Cr s 310 G s 320 G s ) BB AN BE R (O
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Rl Zad V= 2p EWR A (xsyi),
Az y DB S AVA, 5HME 2 = 2qy HUI
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2p°qt vy, (yi ty,)=0
K F XA A A GIE B R BE A g T
WA AA, 5 AA 5 22 =2qy Y1 BT UA

2p gty v (31 +32) =0 (D

2p°qt v, 3 (yaty3) =0 (2)
M2 AyA 5 o' =2qy WAL, 5 ik

2p°qt vy (ys+y)=0 (3)

R AT p O — A i AT JLART % E B R A Ak — AR
B UE A Ttk e SR (D) L (2)
BT B SR AE AF 2 (3D WA Sz AETE B ] DL
ANl D) L (2) R A A0 ] A BE #fE TE 1 5K (3)
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